[anu sis : BFT-1
UuR - 10 9Rtdl e udlen - aniicus)

§4.3@: 150 HIH 9ol UHY 3 sALS

Y-l : oHell ds usHl R salda 8.

A 2uden via [Qseal WA S ur 218 [Aua vz 250 €l 300 aseini [Roiy @uil.
1) [l uE5AAL yeul, st 214 s10-usld

) ARudl Beri-u 2 yasl aul...

(3)  2untel uld MRAHL 52 HNY

@) [asudl odl cudly 3ad-l 21eldat u2 2=

5) [dxnadl [Qsuq — aisizudl Asuin-3

A2 e A [Qseql W4 sidua 6 WlEdzia 2uaR 100 A 150 aecini [QaR-[adR
52l (05 3R x 02 Ulsdil)
2.1 golld dl RBenl 50 gl o €5 a3;

PR 2UUUR AR glu 8. — 3 evu

-\

2.2 disellond @dg, 2 AuS AndA ng sl | — [y @

2.3 9 & A ARG 5 ag il W,
S22l yat [Qay Rs €iu 9. — 1wy

DA 2uden izl yo [Qu oA Q8 3 Ad 2023 1/3 MM dHIL AGELHL A& .

HelRRAL o0 518 AlHL Aell, 4l 2 2us1aq [Rad ag 2vua 8, d g2 g+l
o Yl A (A2 B, 2w van Gl 1S @l Al wnl sl Reior oo AlH2
(AR 6. Ul HSIRS AR L 8. AR §AR FAl WA Geol 89, Al sAUAAL
AL 2uen M o 9, A oyfs soud o ©. A wlsd u A A O, ud Ba2
g SS9 A Al dal d 3ol a9, ud nu 9. A uRR Fdl ¥ Murs R
9. i Wil astdl ), 2i4l @l dadl dl, 2l disttial wR <l Al A [Quas
ugl oA 8. AR sAAAl HAdl 83 6, aqui MR 6, Agl JHdl € 8, slaud HdA
6l 2Q 8, ua tiAl d 992 Yyl Yol SIHIES AU 8. AU BH HSIUPRHUL {dl
HAl @anas-AlsL adseilz 2R 2l 9, tadl 4 8, dd @ad wE 9, du 2
ugl Ul [RRian- qRul [Qag ol gotdl HgRA diR 6, si1d 9, da®ad s 69,
2 2udar devisd nyds aidl dd 2R yPa usdilL G avil. (2 9@ x 5 usil)

2uuel Al el Bl 5 disduld A dlsadld DadEd dr 9. ull 1w
[l 2[R0, dsRE, 2ig™al, uudl, Qe x4 0N srel [t d
(ARl lu 8. duidl Hasag Rl 52 x4 weg d- 2uaR A%Y Adad 8g A
8, 9l MA@ 2 A il WU [QaRdla el sladl an:an, uIunlg, Alded,
W8 w1 1@Yv ARA ARdl WA d Hasag ua Rl 53 a5 8. aal [k

s34, Gele AAA ASNRBBAUAL VgL 2usd add, cnus qulad wy aadd

(20)

(10)

(10)

(10)

BFT-1] 1 [ P.T.O.



A1 s 2 WA sl ugld Yol ™Al 2id WA Ad Guaadl €, 24
2 o 2Rl dlswdl st Gl AlRuueu-l 214 cualleidll (it 2ul 2idldd ©.
AN Q2R s8a 8 (AR uda 8, ddfl o AR Ay 1 2id Anldg ara Guall
W 8.

HellreR#HL 2 dlsdl @alal sRae via sladl 214 44 gl @ansl s
QoL Sladl FH @adHl ol UASIRIHL dH 4HHE WaL HdldRawHdl 3R sld 6. 4
2 FH Dadtl s 2 O dH DAl WR ¥0 Dadd [Rand 52U wrHlEls dw
ugl 9. uRl 44 ugl MR Hd 89, Aed HdulBwdid s 3u d qHuldwdl 8.
4.1 A%y Adad 54 ag e © ?
4.2 My W HE Asuld wE 9 ?
4.3 disig wad ved g ?
4.4 4HHL HreaRam 32 well slu e ?
4.5 ‘quul3wdl xA2d Hauldwa’ — el ?

W5, Do SIS Almilell ALSIURL MRAOL S5 AURSIRL S 1 A0UR Hanaur HAld, [Aqa (10)

-\

ARl 2uug 2uR 150 2seld WupRs MM duR s

-6 UARAUL AR Dartw3Rud-l dyarguil uR DAL Baa] 155l 53¢ O d-l (10)
[ordaur 2tissisla masidl >uug wi [Aewoig uRd HiRHL {2 2uaR 150 wsel]
[Rden dur s2.

W7, ddRl ASUL U M4 AL ad’ viddld addl [Breen sau-l Goasllql 2ua? 150 aseidi  (10)
AR B wat quil,

w-8. 50 ol (ALL)u GuUloL 231 dMIRD Hdcul % S, FUAR 150 AsEL AAMUA 5 v X (10)
addAuwaL d=fld Aeidld quil.

-\

W-9. A 2puden Qs [Qu 2u2R 150 aoeiml axi Rdal -l (10)

BFT-1 ] 2 [ Contd.



U-10. HEAHARL AlSL $5U2 301 Ul olAd Al%-UH A5 530 A5 A WS HIRLEAT 2UudL
AR ad qscudll au sdy, d-i [Qal ARl 2uudl 202U 150 AsEi-l vSNA Qv

oIl 2uyfRs anudl [ vis dudly ol o 8. — 24 [ ua (adw) i
[Qua ([dg)ui [QauRl 9L sl 20U 150 AGEIAL Adle dUIR 53U,

W12, 2 spdan i vzl AuRAdIHE HiAlHS HgaAe S

Perhaps God engages our universe, his own creation, in much the same way. He
grants us freedom to rebel against its original design, yet even as we do so we end
up ironically serving his eventual goal of restoration. If I accept that blueprint —
a huge step of faith, I confess — it transforms how I view both good and bad
things that happen. Good things, such as health, talent and money, I can present
to God as offerings for his use. And bad things too — disability, poverty, family
dysfunction, failures — can be redeemed as the very instruments that drive me to
God. “I have learned to be content whatever the circumstances,” wrote the apostle
Paul from prison. Naturally he preferred comfort over agony and health over
weakness, but Paul had gained confidence that God could use circumstances both
good and bad to accomplish his will’
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SUBJECT CODE : BFT-2
Paper-2 : English

Total Marks : 150 Time : 3 Hours

Q.1.

Q.2.

Q3.

Q..

Q.5.

Write an essay on any ONE of the following in minimum 250 to 20)
maximum 300 words.

It must exhibit your grasp and critical understanding of the subject in the
best possible individual style having originality of thought and expression. It must be
well argued piece of writing coherently and sequentially with observance of
grammatical rules.

I. India is a land where tradition intertwines with modernity.

II. “We abuse land because we regard it as a commodity belonging to us.”
III. Real knowledge is to know the extent of one’s ignorance.

IV. Technology and Digital Innovation: India’s Growth Story.

V. “Poverty is the worst form of violence.”

Imagine you are an Account Officer in a Government department office (10)
at Gandhinagar. The Finance Department of the Government has asked for the

budget estimates and revised estimates of your department. Your senior officer has

sought your opinion about preparedness and needful actions for the same. Write a

letter, in about 150 words, to your senior officer offering needful suggestions.

The local Municipal Corporation of your city has declared a 10% discount on the (10)
annual property tax if paid within the stipulated time period from the beginning of

the new financial year. An additional discount of 2% has also been offered if the

said tax payment is made through online mode. Draft a press release on behalf of

your Municipal Corporation in about 150 words.

Write a report in about 150 words on your recent visit to the State level (15)
Independence Day Flag hoisting ceremony at Valsad.

Reflect on the following picture with meaningful observations in about 150 words. (15)

e
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Q.6.

Q7.

Q..

Draft an inaugural speech, in about 150 words, to be delivered by the honorable
Minister of Tourism and Cultural Activities, Government of Gujarat, at
‘Pravasan Mahotsav’, an annual initiative for promoting tourism and cultural
activities in Gujarat.

Write a precis of the following passage in about one third of its original length.

National Health Policy 2016 and budgetary announcements of the year 2018 named
as Ayushman Bharat have two components of strengthening healthcare in India:
improving access and quality of primary healthcare through strengthening 1,50,000
subcenters and primary health centers (PHCs) and improving access to secondary and
tertiary care through a near-universal health insurance scheme.

India’s economy is growing well, rural infrastructure is improving, and it has
access to technology, all of which have the potential to transform health status of its
populations. Some state governments have designed and implemented innovative
solutions to address the problems of access and affordability of healthcare. Many not-
for-profit organizations that work in difficult-to-reach rural areas have innovated to
improve access, responsiveness, and quality of primary healthcare. There are also
substantial, long-term experiences of several countries that have addressed the problem
of delivering universal, high-quality primary healthcare to the most underserved
populations.

These experiences can inform and guide India’s policy directions into action.
A one-day National Consultation was held to share learnings from experiences and
evidence of rural primary healthcare within India and from across the world, with the
purpose of identifying those elements that could guide India’s efforts at improving
healthcare in rural and underserved areas. The consultation was nested within World
Rural Health Conference 2018, held in New Delhi from 26th to 29th April 2018.

The consultation brought together a range of healthcare practitioners, policy
makers, and academicians from India and other countries, developed and developing,
They presented the experiences from four states of India (Chhattisgarh, Tamil Nadu,
Karnataka, and Rajasthan) and four countries across the world (Australia, Brazil,
South Africa, and Nepal), besides drawing on global evidence. This article provides the
summary of discussions and key recommendations emerging from the consultation,
especially those that have a relevance for rural India.

Read the following passage carefully and answer questions that follow. (5 x 3 = 15)

Environmental, genetic, and cultural factors can all affect the development of a
child. Child psychology gives highly important and valuable information on your child’s
mental, physical, cognitive, and emotional health as they grow. Child psychology is the
study of subconscious and conscious childhood development. Child psychologists observe
how a child interacts with their parents, themselves, and the world, to understand
their mental development. Everyone wants their child to have healthy development,
but it’s not always clear if a child’s behavior is a symptom of a normal stage in
development or a sign of an abnormality. Child psychologists can help you understand
the difference. Understanding the normal and abnormal psychological patterns of a
child can help parents understand how to best communicate and connect with their
child, teach their child coping mechanisms for managing emotions, and help their child
progress and thrive in each new developmental stage.

15)

15)

15)
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Child psychologists can also identify abnormal behaviors early, help detect the
root of common behavioral issues such as learning issues, hyperactivity, or anxiety,
and help children work through early childhood trauma. They can also help to prevent,
evaluate, and diagnose mental health and learning problems, developmental delays or
conditions such as autism. Emotional and social development are deeply intertwined.
Emotional development refers to how the child feels, understands, and expresses their
emotions. Emotional development is expressed in very young children through the
expression of basic emotions like fear, joy, anger, and sadness. As the child develops,
more complex emotions such as confidence, hope, guilt, and pride emerge.

Questions :
I. Why is child psychology important?
II  What is child psychology?
III. How can a child psychologist be helpful to parents?
IV. What is emotional development in a child?
V. Give a suitable title to the passage.
Q.9. Do as directed: (20 x 1 =20) 20)

Choose the correct answer from the given options and darken the circle [ @ ] as well
as write the correct answer in the bracket ( CAPITAL LETTER) as per the sample
given below.

Sample Answer: ( C ) A O B O ce D O E O

1. The old Bunyan tree which in our school ground for more than thirty
years suddenly crashed to the ground yesterday.

(A) is standing
(B) has stood
(C) had stood
(D) stands

(E) has standing

2. He of retiring until after he enough to afford a decent life after
retirement.

(A) hasn’t thought/will save
(B) isn’t thinking/has been saving
(C) won’t think/is saving
(D) doesn’t think/has saved
(E) didn’t think/will have saved

3. Old diesel vehicles create a lot of pollution. (Change the voice)
(A) A lot of pollution is being created by old diesel vehicles.
(B) A lot of pollution has been created by old diesel vehicles.
(C) A lot of pollution is created by old diesel vehicles.
(D) A lot of pollution had been created by old diesel vehicles.
(E) A lot of pollution was created by old diesel vehicles.
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Each painting which had been made by her was appreciated by her professors.
(Change the voice)

(A) Her professors appreciated each painting which have been made by her.
(B) Her professors appreciated each painting which was made.

(C) She had made each painting which her professors appreciated.

(D) Her professors appreciated each painting which she had made.

(E) She had made each painting which got an appreciation.

She said to the teacher,” Could you please repeat the question?” (Change the narration)
(A) She asked the teacher if she could please repeat the question.

(B) She asked the teacher to please repeat the question.

(C) She asked the teacher to repeat the question.

(D) She asked the teacher to please let her repeat the question.

(E) She asked the teacher if she was pleased to repeat the question.

“I am taking my students to Science City tomorrow”, she said, “to watch a
3D science film”. (Change the narration)

(A) She said that she was taking her students to Science City the next day to
watch a 3D science film.

(B) She said that she would take her students to Science City to watch a
3D science film tomorrow.

(C) She said that she was taking her students to Science City that day to
watch a 3D science film.

(D) She said that she may take her students to Science City tomorrow to
watch a 3D science film.

(E) None of the above.

No other statue is as tall as the Statue of Unity.
(Transform the given sentence into superlative)

(A) No other statue except the Statue of Unity is tall.
(B) The Statue of Unity is tall of all the statues.
(C) Isn’t the Statue of Unity the tallest of all statues?
(D) The Statue of Unity is the tallest of all the statues.
(E) The Statue of Unity is a taller statue.
common sense is virtue.
(A) No article / a
B)A/a
(C) The/a
(D) The / the
(E) A/ the
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9. __ of the two brothers is married.
(A) Any
(B) Each
(C) Every
(D) Both
(E) Most
10. She confided me.
(A) in
(B) about
(C) on
(D) of
(E) above
11. Don’t trust him, he always his word.
(A) goes back
(B) goes back on
(C) gets over
(D) gets round
(E) gets back
12. Is there enough tea to or shall I make some more?
(A) put forward
(B) make up
(C) set in
(D) go round
(E) None of the above

13. My new co-worker is constantly crying wolf.
(Choose the correct meaning of the underlined expression)

(A) Always criticizing
(B) Work with dedication
(C) Call for help when you don’t need it
(D) Being irregular at work
(E) Show aggressive and violent
14. The meaning of ‘misdemeanor” is
(A) Unmarried woman
(B) Unmarried man
(C) a crime considered to be one of the less serious types of crime
(D) Misunderstanding due to wrong information

(E) A person facing capital punishment
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15. Select the correct synonym of ‘paltry’.
(A) Constructive
(B) Destructive
(C) Delicious
(D) Insignificant
(E) Birdhouse
16. Select the correct antonym of ‘contentment’.
(A) Imagery
(B) Script
(C) Storage
(D) Dissatisfaction
(E) Unreliable

17. Select the correct one-word substitution for ‘a speech made without any preparation.’

(A) Maiden speech
(B) Allegory
(C) Fiction
(D) Fable
(E) Extempore
18. Did you understand he told you that story?
(A) because
(B) due
(C) which
(D) why
(E) least
19. He was told to sign the letter of statement and aver . (Select the correct suffix)
(A) ness
(B) ment
(C) edness
(D) ess
(E) ee
20. He has a for writing.
(A) flare
(B) fare
(O) flair
(D) fleir
(E) feer
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Q.10. Translate the following passage from Gujarati into English. (15)

MRdld dglal [As o el Bl Qs 2da 8. arddl wellh yaell o welld
gNgddl 2 gl dlsHdl GuHL 2uuAHL 2Udd 6. MIRA AR By, 4RAAdL sU O,
AHRAHL ARAUE gL €2 ad 400 [Rellu 8522 om AL W w9, FHidl 70
Melu €522 well dwesifas adl ona ©, 115 Mdlad €522 gl, uAAR 24 suni
A5G W 8, w215 MAdu 8522 oIl aima ©. >0 Rald well Aas-n
AR AL XM Gl 9. HIRARL s Ul WAL Al2Al ad 6, FHi 12 Yo Agluil
8. U AL oo, wayL 2t Ha Al HEL Al ©. Yuu gl L gndug
(A1 25 503 28 cm 8522 Fedl ©. ¥ A N AAS [Axdir-u 43 259l ua x4y
8. ol Yoy Aglaiui [y, dleiadl, Bril, 2 HSirgl-l And wx 89, % 1035 am
8522 YU UAS HRAL 69, FUR HAH sl glolAl N AAS (AR 25 am 8522
gadl 8.
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SUBJECT CODE : BFT-3
Paper-3 : i~y x:1414 / General Studies (Main Exam)

$a38: 200 AHY : 3 sALS
Total Marks : 200 Time : 3 Hours

YU

([acua-1 / Section-1

1. usisuis 14910
1. Question No. 1 to 10

2. 181% 10 Aol FAoL AuidliL .

2. Attempt all 10 questions.

3. €5 UK 10 R 89,

3. Each question carries 10 marks

4. s 2UAR 100 &) 120 AR @vall 8.

4. Answer should be given approximately in 100 to 120 words.

W.-1.
Q.-1.
W.-2.
Q.-2.
W.-3.
Q.-3.
.4,
Q.-4.
W.-S.
Q.-5.
W.-6.

Q.-6.

W.-7.
Q.-7.
W.-8.

Q.-8.

W.-9,
Q.-9.
W.-10.

Q.-10.

Ml3d Anigiad welds qruii- [Rsiami 5dl dd dloein 20 © ? d duondl.

How did the Bhakti Movement contribute to the growth of regional languages ?
AR g 2 ud A% (A2 [Auaid 42A82 8. d-L q&l Anendl.

Ranaki Vav is a world renowned heritage of Gujarat state. Explain its characteristics.
A% A aul, GURAL HeIA RAsIRIMEAL 28 6. — AHonl.

Raja Ravi Varma, is India's one of the greatest painter of India. — Explain.

%Al ALSL GIRL HIBLUHL Al SISURL 61, HS eyl HOUAL ARlA 52,

Describe any two important fairs, enjoyed by people of Gujarat.

auRd-ll gl AlssU nudlHi ad 8. — Berew e QAL $3A.

India's rivers are flowing in a specific system. — Discuss with example.

alsl Ul us1R+0 i1l 2ld saumi N8 (R0 A@la-l eyffisi-l w2l 5.

Discuss the role of Public Accounts Committee in establishing the accountability of the
government to the people.

SLAHL HIRAHE Bsurt &, Ben uRadAnifl uur ad ‘a8 ? — Al s2U.
Currently, the aviation sector in India is going through many changes ? — Discuss.

MIRA AR GIRL A3 $AML 20dA A2 sl 212 WAH (NCAP)L Yy [Qdudiil g © ?

What are the key features of the National Clean Air Programme (NCAP) initiated by the
Government of India.

MRAHL A2 Aladiad [RizeHuil IRNSS NavIC Wiaun-l ¢ffsig [ddaniens dd udlaw s:i.
Critically examine the role of IRNSS NavIC programme in satellite navigation system in India.
Again-3 A W2 A g geul vilagl. — Al 43U

Chandrayaan-3 will open up new moon vistas for the world. — Discuss.

BFT-3 | 1



YA

([acua-2 / Section-2

. ussHis 11 4L 15
. Question No. 11 to 15

. GLao 5 USHIAL YAl @Al 6.
. Attempt all 5 questions.

. Each question carries 20 marks

. oL 2022 200 Ul 250 AGEIHL QLA ¢9.

1
1
2
2
3. €5 UK 20 RS9,
3
4
4. Answer should be given approximately in 200 to 250 words.

W.-11.

Q.-11.

u.-12.

Q.-12.

u.-13.

Q.-13.

u.-14.

Q.-14.

u.-15.

Q.-15.

-\

s eRuLA v, AR 2 gaint [Asin-u dxni 28l e wald-dl 2l s2u.

Discuss the significant advances made in the field of science of astronomy, mathematics and
medicine during the Gupta period.

MIRAHI ALlolA WS Guasy, suaHi AU v e AR 20130 s yeuis su.

Evaluate the role of National Food security Act 2013, in providing access of food to the poor
in India.

RURAHE AS1RASIRAAL (Rt 2820 [RsARAD -3 21502 6l 2is SRz (A6l eyffist aw.

Examine the role of Securities and Exchange Board of India (SEBI) in protecting the interest of
investors in India.

[Basa Raull~uleadl »ies sig2 HAgH2 (FRBM) ise-ll Huu aael auondl. d 52dl e asn
WY ?
Explain main features of Fiscal Responsibility and Budget Management (FRBM) Act. To what

extent it has been successful ?

-\

[Asruasll 3nasui 1262l (ARl A8l 5d 52l auder-2 [Ader wiaum., — 2l s,

Vibrant Villages Programme Integrating Border Regions in Developmental Framework.
— Discuss.
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SUBJECT CODE : BFT-4
Paper-4 : Accountancy and Auditing-I (Main Exam-Descriptive)

$a38: 200 AHY : 3 sALS
Total Marks : 200 Time : 3 Hours

([a®uat-1 / Section-1

YasL: 1. ussHis 14110
1. Question No. 1 to 10
2. 181% 10 Aol FAoL AuidliL .
2. Attempt all 10 questions.
3. €5 UK 10 R 69,
3. Each question carries 10 marks
4. s 2UAR 100 4 120 AR @mall 8.
4. Answer should be given approximately in 100 to 120 words.
w-1 dAlus diRel adls vidndla Asudla [Buell QiR GeMaril Hear duedl.
Q.-1.  Explain the significance of emergence of International Financial Reporting Standards as Global
Standards.
W2, sULRAACUHE A UL v’ vilou €9 ?
Q.-2. Under what circumstances is the ‘Going Concern Concept’ inappropriate ?
W3, S5eldinl ogaHl usdR 32 a3, ad MRl A waHA v 35184 3l dld kil Aol d
wlBuig aviq s2d.
Q.-3.  As Cost Auditor to a group of factories, describe the procedure how would you adopt the record
of labour and material costs.
W4,y Wi Hidlodladdl i Rl 2Gam duendl.
Q.-4. Explain the Modigliani and Miller approach to Capital Structure.
W5 “5ULAAL QST 5% UR AUHRA 9.7 — AnAndl.
Q.-5.  “The incidence of Income-tax depends upon the residential status of an Assessee.” — Explain.
W6 RSN UASUAS B BUASTIL UAS ScL AY ARL [Aseu 8.7 — »al 530
Q.-6. “A Funds Flow Statement is a better substitute for an Income Statement.” — Discuss.
W7, ORiaR [Aedum asdls Auenslu [Qeduami 5dl £ld Hee 52 8 7 — 2l 530
Q.-7. How does the ratio analysis technique help in the financial analysis ? — Discuss.
W8, 51 ARAY L WL dal [BRuM, a4 Gelld 2l 12 suLuoal dal ?
Q.-8. In case of disagreement of the Trial Balance, what steps would you take to locate the errors ?
W-9. ARSI [Ruellg @uus asllse 214 agzu 2l
Q.-9. Give a broad classification and form of Government Accounts.
W10, 2UA5ARL HIRL 1961 L 5am 10 214012 52¢lls 2uast AyYRiubl 5235d 8, d-il 52dLs GELsBL 2Aul.
Q.-10. Give some examples of incomes which are totally exempted from tax with reference to

Section 10 of the Indian Income-tax Act, 1961.
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YU

([acua-2 / Section-2

. Wssuis 11 4 15
1. Question No. 11 to 15

—

2. 6149 5 Uil B AuAlL 9,
2. Attempt all 5 questions.

3. €5 UK 20 RS9,
3. Each question carries 20 marks

4. s 2UAR 200 A 250 AU @Al 8.
4. Answer should be given approximately in 200 to 250 words.

W.-11.

Q.11

u.-12.

Q.-12.

W.-13.
Q.-13.
W.-14.
Q.-14.
W.-15.

Q.-15.

o Sl AdHi [l v s1a0 AA-L JuidR W [RuHl agudl. 2ual 3uideid sl
[AAnaHl adL dsiad 08 dd 5 Ad @agR s ?

State the rules for conversion of a foreign branch trial balance in the currency of the Head
office. How would you deal with the difference in exchange resulting on account of such
conversion ?

“sudl-i 23221 Sedlsar Asi-u WA 43, sus sudl-i R85 43 avlaani »ud €.
An 9di, AAadugl, d 218 ad=t udlas O 2 duwadl ey sl 21980 9. — a2l $2.

“An auditor of a company is sometimes described as an agent of shareholders, sometimes as an
officer of the company. Still, essentially, he is an independent reviewer and is expected to play
fair.” — Discuss.

cRani Aol (SEBD™L nadl [alas yeuissidl 422124 (credit rating agencies) YR A8 Y Qv
Write brief notes on various credit rating agencies registered with the SEBI in India.
“Bprasdn AR 529 adladl 214 adle gdl 8.7 — 23l s2U.

“The functions of the Income-Tax authorities are both executive and judicial.” — Discuss.

$u-l a1 20130 A2l A2 S 2 241 WEa 1A 5 B Ss0 [RAAAE NS A Ud 53 AU 6.

Explain the conditions, provisions and procedure of the Companies Act 2013 under which
redeemable preference shares can be redeemed.
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SUBJECT CODE : BFT-5
Paper-5 : Accountancy and Auditing-II (Main Exam-Descriptive)

$a38: 200 AHY : 3 sALS
Total Marks : 200 Time : 3 Hours

([acua-1 / Section-1

YasL: 1. UssHis 14110
1. Question No. 1 to 10
2. 181 10 U2l FAoL AuidliL .
2. Attempt all 10 questions.
3. €5 UK 10 R 69,
3. Each question carries 10 marks
4. s 2UAR 100 &) 120 AR @vall 8.
4. Answer should be given approximately in 100 to 120 words.
ol A e 8 5 Ag o3 el 3 2125125 usdR [0l ugld 2 i [Buel dur 528 3 uLudla
(S2uell 18 AHd .’ — wall 530
Q.-1 “It has been stated that an efficient costing system will not necessarily produce accounts which
in their result will agree with Financial Accounts.” — Comment.
-2, “unde [Qeduedl vud (Es-Sad swae) 2 yneud dd 20 [Aedue 9. — aueal 21 vaiadl
Hulgwl a2l 53U
Q.-2.  “The break-even concept is fundamentally a static analysis.” — Discuss and explain the limitation
of the concept.
W3, CGST [Ral, 2017 st iagll e+l ulsu anendl.
Q.-3.  Explain the procedure for Registration under CGST Rules, 2017.
W4, uAvid AR 520, dril uecarll Al 520, Y usAvid SHaL B AAL QA S1I-51281 ol sald © ?
— GergwL A unandl.
Q.-4. Define Correlation. Discuss its significance. Does corelation always signify causal relationship
between two variables? — Explain with illustration.
W5, Hidld yaldau- 2124 g ? dansly U a1 d e Head 8 ?
Q.-5.  What is meant by demand forecasting ? Why is it so important for the management of business
firm ?
w-6 e [Bmi eud-l g g © ?
Q.-6 What is the role of NABARD in rural credit ?
W7, “uR8190 B8R A N8R eg A N8R v Uil anal 12 AL ldHl s HS YRl ld oirll
UL 8.” — Al 53U,
Q.-7.  “Government borrowings or public debt has become an important source of finding resources
for meeting public expenditure.” — Discuss.
-8, s [Baell ulld (ulbas vis6-2u sMAl - PAC) Hi [Rais1s 2 vs1dvu uRas (sivgiar i1 2iil3e:
e - CAG)-l 64[Rs1 9 69 ?
Q.-8.  What is the role of Comptroller and Auditor General in Public Accounts Committee (PAC) ?
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-9, “udR [Suefl uglani, Aot 2 -l 5AR 89, FUR 5AR A HIEL AN 6. — w53l

Q.-9. “In a Cost Accounting, A Job is a small contract and a contract is a big Job.” — Comment.

W-10. weusla Al 24 sl A ad-l dsiad e s2.

Q.-10. Differentiate between Monetary Policy and Fiscal Policy.

[acua1-2 / Section-2
YasiL: 1. ussuis 114115
1. Question No. 11 to 15
2. 81% 5 UL B AuA-iL ©.
2. Attempt all 5 questions.
3. €5 UK 20 RS9,
3. Each question carries 20 marks
4. s 2UAR 200 A 250 AR @Al 8.
4. Answer should be given approximately in 200 to 250 words.

W11, “Riysd Uelel 241 Buuelal a2alHl dstad 3w [Reladl sustd 9. — Rugll 521, [0l ugld 214
yeuistdl uglda-i AeelHi dd ysd detal 2 Gu deial a2l 34l Ad dasiad 530 ast i,

Q.-11. “The distinction between Join products and By products is the matter of judgement only.”
— Comment. How can you distinguish between Joint products and By products with reference
to the method of accounting and method of valuation.

W12, ARl e Al 52 S1UEL, 2017 S0 [Aldy usir-1L yast (Supply)-ll 2l 531

Q.-12. Discuss various types of supplies under Goods and Services Tax Act, 2017.

W13, RS 26l A42d g ? d yua aesl su1 6 ? d €35 WIS BElRL Ul

Q.-13. What is a time series? What are its main components ? Give illustration for each of them.

w-14. U4l uangen sled gi? yel ¢Asis Ssm Udl-l Esoumu-dl augal 24 aien suonl axgendl ardl
uuAal.

Q.-14. What is meant by Firm’s equilibrium? Explain the conditions of short-run equilibrium and
long-run equilibrium of a firm under perfect competition.

w15, G50  wenelui YaiRt 2 HiG 1 qRaHi e ? aurdul oilEar gl a3id 34l dd sami 2udl 4
[Qo1d Annal.

Q.-15. Why were reforms undertaken in the banking system ? Discuss in detail how were the banking

reforms initiated in India.
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